
 

 
Question Scheme Marks AOs 

6 (a) 
Uses 118 3 2 3 sin 602 x x       M1 1.1a 

   Sight of  3sin 60 2   and proceeds to  2x k  oe M1 1.1b 

                                       12 2 3x   * A1* 2.1 

 (3)  

(b) Uses    
2 22 6 3 4 3 2 6 3 4 3 cos60BC          M1 1.1b 

         2 84BC    A1 1.1b 

        2 21BC   (cm) A1 1.1b 
 (3)  

(6 marks) 

Notes 

(a) 

M1: Attempts to use the formula 1 sin2A ab C . 

        If the candidate writes  118 3 5 sin 602 x     without sight of a previous correct line then  

this would be M0 

M1: Sight of 3sin 60 2  or awrt 0.866 and proceeds to 2x k  oe such as  2px q  

        This may be awarded from the correct formula or sinA ab C  
A1*:  Look for 2 12 2 3x x   , 2 4 3 2 3x x    or 12 2 3x     

This is a given answer and all aspects must be correct including one of the above 
intermediate lines. It cannot be scored by using decimal equivalents to 3   

 
Alternative using the given answer of 2 3x    

M1: Attempts to use the formula 1 4 3 6 3sin 602A      oe 

M1: Sight of 3sin 60 2  and proceeds to 18 3A  

A1*: Concludes that 2 3x   
(b) 

M1: Attempts the cosine rule with the sides in the correct position.  
This can be scored from    

2 22 3 2 2 3 2 cos60BC x x x x      as long as there is some  
attempt to substitute x in later. Condone slips on the squaring 

A1: 2 84BC             Accept 2 7 12BC   ,  84BC   or 2 21BC   
        If they replace the surds with decimals they can score the A1 for 2 awrt 84.0BC   
 A1:  2 21BC   
         Condone other variables, say 2 21,x    but it cannot be scored via decimals. 

 

 
 
 




